*Quantities which have only magnitude

AP e ideof and no direction is called scalar
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thedistance between two points.

(i) Zero vector (initial and terminal points coincide)

(ii) Unit vector (magnitude is unity)

(iii) Coinitial vectors (same initial points)

(iv) Collinear vectors (parallel to the same line)

(v) Equal vectors (same magnitude and direction)

(vi) Negative of a vector (same magnitude and
opposite direction)

If A is multiplied to vector AB , then the
magnitude is | A| times that of vector AB
and direction remains same if A>0,
opposite 4B if A <0.
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two coinitials vector
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ACare given vectors, then where AC is resultant vector.
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